g

(1/0) do/d z

Ratio to ATLAS

H
N

=
N

[HEY
o

0.5

13000 GeV pp
LA I B B

Relative P, Zg (ATLAS soft-drop observables)

B ATLAS
—A— Pythia 6.428 370
--¢-- Pythia 6.428 atlas-csc
--*-- Pythia 6.428 d6t
Pythia 6.428 default
---*-- Pythia 6.428 dw
—o— Pythia 6.428 p0

T /D
! I —
(|
2 _ A\ i —
LA\ \t/
— .l
A ) i,
I “\ A \ SR
I ! AW
% 'Y y /..
| ) o
i
\ /M I C
- \ A
\
— 23S =} (L
— S & W& A -
e may =g o n‘ e )
B ! il =ny. - ;_-‘E
7\
— ATLAS 2019 11772062
| | | | | | | | | | | | | | | | | P B |
_l T T T T | T T T T | T T T T | T v T | v T v |_
— , ]
[ Vo ]
[ - | ]
| I . ]
| I ]
| H ]
~ " -
— _ T o —]
| I | - l' E ‘j‘é |
c
L + N N ,V. |
— @' fa| gy T —
] A R . ®- & ey T
| \ ] AN ]
= !‘ 7 4\ B T I "’“’ :s :5 1 'l : :A‘ l]{ ‘:\ y ‘\
— _ .V \ 4 L\ NN T N s 1 ‘NR \ ]
St . W ;,-"“.,"A‘ = "'::‘".-':"‘G:~ DN T 'l"k;’«ﬁ ‘b‘ ‘ Zi L L 3
Ty IR K ok B R X TSRO KL RO A W8S
- YA o [\ P “t- N —

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


